HEES

e

m;a\ ER

IE3

XIBREEXRHEMEIS

=

& | TER - #HER- BFER §%

BERe £1EEEER
TEER R e TSR AT

i

th

Hh

=]

ug °¢;

) AEHRIDZE . MRIFETD/26F %,

FEE
$=1:1000

BIER L=180.0m

07081 1038

SEIMRAT A=903. Tm2

v

SR TRERN

i
V=
‘o L L ‘a ‘@ ‘g L = ‘g L g =
4.7 15.3 5.0 7.0 8.0 6.5 10.5 3.8
3y
i | o > o -~ o ~ = ~ > o © o
|2 < o = = = 52 =3 = s = = <
=
el
11.5 1.8 8.7 | =60
2 = 5 = E = =
SEREI
C=4.3n
T~ BERY SRR
1=10. 3m L=13. 0m
1.5 10.0 13.0 10.0 20.0
g
o 153 -~ -~ (5 (5 eo T ME
A = = = s = s o
5
15.5

€16 1038

SRR
L=2.0m
2.02

A 7 1 X
$=1:50

ﬁ%?ﬁi

j(z RET ‘

/f, ,

BiEX

TRAI7IV MEET (IT#HZ)
§=1:10

=BT
BEZHEAs20mm
|

HRHMRM-30 t=T0mm




